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1. कलपक्कम परमाणु ऊर्ाा संयंत्र ककस प्रकार का 
ररएक्टर है? 
A. उबलता पानी युक्त रिएक्टि 
B. दबावयुक्त भािी जल रिएक्टि 
C. दबावयुक्त जल रिएक्टि 
D. इनमें से कोई नहीीं 
 
2. स्वदेशी रूप स ेप्रोटोटाइप फास्ट ब्रीडर ररएक्टर के 
निमााण के ललए कौि-सा संगठि जर्म्मेदार है? 
A. रार्ा रमन्िा सेंटर फॉर एडवांसड टेक्िोलॉर्ी 
B. इींददिा गाींधी पिमाणु अनुसींधान कें द्र 
C. भाभा परमाणु अिुसंधाि कें द्र 
D. अब्दलु कलाम परमाणु अिुसंधाि कें द्र 
 
3. वह सामान्य तींत्र क्या है जजसके द्वािा एक 
एींजाइम कायय किता है? 
A. सक्रियण की ऊजाय बढाना 
B. सक्रियण की ऊजाय को कम किना 
C. pH घटाना 
D. pH को बढाना 
 
4. 19वीं शताब्दी में ‘स्वदेशलमत्रम’ समाचार पत्र की 
स्थापिा ककसिे की थी? 
A. संतोष लसहं 
B. र्ी.एस. अय्यर 
C. तारकिाथ दास 
D. अर्ीत लसहं 
 
5. भारत रत्ि पािे वाली एकमात्र महहला प्रधािमंत्री 
कौि थी? 
A. उषा मेहता 
B. इंहदरा गांधी 
C. सरोजर्िी िायडू 
D. सुचेता कृपलािी 
 
6. वैजववक र्ीवंतता सूचकांक __________ द्वारा 
र्ारी ककया र्ाता है। 
A. वववव आर्थाक मंच 
B. वववव बैंक 

C. अथाशास्त्री बुद्र्धर्ीवी इकाई 
D. अंतरराष्ट्रीय मुद्रा कोष 
7. इंडडयि ओशि ररम एसोलसएशि का गठि कब 
ककया गया था? 
A. 1992 
B. 1995 
C. 1997 
D. 2007 
 
8. लमटंका पास (दराा) निम्ि में से ककसे र्ोड़ता है? 
A. कवमीर से चीि 
B. कवमीर से उत्तराखंड 
C. उत्तराखंड से चीि को 
D. चीि से लसजक्कम को 
 
9. ननम्न में से कौन सी बीमािी नाइटे्रट उवयिकों के 
कािण होती है? 
A. बाल सींलक्षण 
B. मीनामाता िोग 
C. पाक्रकिं सन िोग 
D. नील शिि ुसींलक्षण 
 
10. अिुच्छेद 262 _____ से संबंर्धत है। 
A. कें द्र राज्य संबंध 
B. अंतर राज्य र्ल वववाद 
C. एससी का मलू अर्धकार क्षेत्र 
D. एचसी का मूल अर्धकार क्षेत्र 
 
In the following question, the given 
sentence has four parts marked P, Q, R 
and S. Choose the part of sentence with 
the error and mark as your answer. If there 
is no error, mark ‘No error (S)’ as your 
answer.  
11. The consequence of (P)/ his 
carelessness was (Q)/ that the game was 
lost. (R)/ No error (S) 
A. P 
B. Q 

http://www.gradeup.com/
http://bit.ly/32EdwOO


www.gradeup.co 
 
 

 
3 

 

C. R 
D. S 
 
In the following question, the given 
sentence has four parts marked P, Q, R 
and S. Choose the part of sentence with 
the error and mark as your answer. If there 
is no error, mark ‘No error (S)’ as your 
answer. 
12. Men who has risen (P)/ by their own 
exertions (Q)/ are always respected. (R)/ 
No error (S) 
A. P 
B. Q 
C. R 
D. S 
 
Select the word which means the same as 
the group of the words given.  
13. Study of the lives of saints 
A. paleography 
B. speleology 
C. hagiology 
D. genealogy 
 
Select the most appropriate option to fill in 
the blank.  
14. Consumers today have multiple 
avenues ranging from online marketplaces 
to offline retail stores to _________ a pre-
owned smartphone. 
A. contrive 
B. purchase 
C. covet 
D. entwine 
 
Direction: Choose the most appropriate 
option to change the voice (active/passive) 
form of the given sentence.  

15. My friends persuaded me that I should 
forgive him. 
A. I will be persuaded by my friends that 
he should be forgiven 
B. I am being persuaded by my friends that 
he should be forgiven. 
C. I will have been persuaded by my 
friends to forgive him. 
D. I was persuaded by my friends that he 
should be forgiven. 
 
16. Select the wrongly spelt word. 
A. brood 
B. blosom 
C. boast 
D. booty 
 
Select the most appropriate meaning of the 
given idiom.  
17. bite your tongue 
A. talk for a long time 
B. be impossible to be understood 
C. get bruises in the mouth 
D. stop yourself from saying something 
 
Identify the best way to improve the 
underlined part of the given sentence. If 
there is no improvement required, select ‘no 
Improvement’. 
18. The judge gave the verdict against the 
Government. 
A. pronounced 
B. declared 
C. sentenced 
D. No improvement 
 
Choose the most appropriate option to 
change the narration (direct/indirect) of the 
given sentence. 
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19. My mother said to me, "You will regret 
your actions." 
A. My mother warned me that I will regret 
my actions. 
B. My mother warned me that I will be 
regretting my actions. 
C. My mother warned me that I would 
regret my actions. 
D. My mother warned me that I would be 
regretting my actions. 
 
Select the correct indirect form of the given 
sentence. 
20. The girl said to her partner, "You will 
have to dance better than this tomorrow." 
A. The girl said to her partner that he will 
have to dance better than that the day 
after. 
B. The girl said to her partner that he would 
have to dance better than this the day after. 
C. The girl said to her partner that he would 
have to dance better than that the day 
after. 
D. The girl said to her partner that he will 
have to dance better than this the day after. 
 
21. एक श्ृंखला लुप् त पद के साथ दी गई है। हदए 
गए ववकल्पों में स ेसही ववकल्प चुिें र्ो श्ृंखला को 
पूणा करेगा। 
Acknowledgement, Insignificant, Personality, 
Knowledge, ? 
A. Leader 
B. Quicker 
C. Doctor 
D. Students 
 
22. उस सेट का चयि करें जर्समें संख्याएँ उसी 
तरह स ेसंबंर्धत हैं र्ैसे कक निम्िललखखत सेट की 
संख्याएँ संबंर्धत हैं। 

(5, 11, 7) 
A. (3, 5, 8) 
B. (6, 12, 4) 
C. (11, 17, 13) 
D. (9, 16, 8) 
 
23. ननम्नशलखित प्रश्न में ददए गए ववकल्पों में स े
सींबींधधत अक्षिों को चुननए| 
ACEG : ZXVT :: IKMO : ? 
A. MNOP 
B. PQRS 
C. RPNL 
D. LNPR 
 
24. इस प्रश्न में एक श्रींिला दी गई है, जजसमें एक 
पद लुप्त है। ददए गए ववकल्पों में से वह सही ववकल्प 
चुननए जो श्रींिला को पूिा किे। 
JAZ, LEX, NIV, PMT, ? 
A. QUR 
B. RQR 
C. SUR 
D. RUS 
 
25. एक अनुिम ददया गया है, जजसमें से एक पद 
लुप्त है| ददए गए ववकल्पों में स ेवह सही ववकल्प 
चुननए, जो अनुिम को पूिा किे| 
580, 265, 373, ? 
A. 366 
B. 490 
C. 428 
D. 383 
 
26. ∆ABC में, AB = AC है और D, BC पर कोई 
बबदं ुहै। यहद BD = 5 सेमी, AB = 12 सेमी और 
AD = 8 सेमी है, तो CD की लम्बाई क्या होगी? 
A. 16 सेमी 
B. 14 सेमी 
C. 16.2 सेमी 
D. 14.8 सेमी 
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27. यदद  है, जहााँ 0° < 

∅ < 90° है, तो (cos2∅ + sin3∅ + cosec2∅) 
का मान क्या होगा? 
A.  

B.  

C.  

D.  

 
28. एक बत्रभुर् की भुर्ाएँ 56 सेमी, 90 सेमी और 
106 सेमी हैं। इसके पररवतृ्त की पररर्ध ज्ञात कीजर्ये? 
A. 108 π 
B. 112 π 
C. 106 π 
D. 109 π 
 

29.  का माि निम्ि में 

से ककसके बराबर है? 
A. 1 
B. cosec ∅ 
C.  

D. sec∅ 
 
30. यहद  है और y, x के व्युत्रम है, 

तो (x3 + y3) का माि क्या होगा? 
A. 476 
B. 472 
C. 504 
D. 488 
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###ANSWERS### 
 
1. Ans. C.  
कलपक्कम परमाणु ऊर्ाा संयंत्र तलमलिाडु में जस्थत 
है । 
• देश का पहला स्वदेशी 500 मेगावाट प्रोटोटाइप 
फास्ट ब्रीडर ररएक्टर तलमलिाडु के कलपक्कम में 
संचालि में है। 
• इसे भारत के परमाणु ऊर्ाा निगम द्वारा ववकलसत 
ककया गया है। 
• यह एक दबावयुक्त र्ल आधाररत या पी.डब्लू.आर. 
ररएक्टर है। 
• परमाणु ऊर्ाा पररयोर्िा के ललए 
एटमॉस्रॉयएक्सपोटा उपकरण और ईंधि की आपूनता 
करता है। यह रूसी राज्य परमाणु ऊर्ाा निगम की 
एक सहायक कंपिी है। 
2. Ans. B.  
पहला स्वदेशी फास्ट ब्रीडर ररएक्टर सुववधा इंहदरा 
गांधी परमाणु कें द्र द्वारा परमाणु अिुसंधाि के ललए 
बिाया र्ा रहा है। 
• पी.एफ.बी.आर. का निमााण वतामाि में भारतीय 
िालभकीय ववद्युत निगम लललमटेड (भा.वव.िी.) द्वारा 
ककया गया है। 
• सोडडयम कूल्ड फ़ास्ट ररएक्टर डडर्ाइि में िई 
ककस्म की ववखंडिीय सामग्री बिािे के ललए 
कलपक्कम पी.एफ.बी.आर. यूरेनियम -238 का 
उपयोग कर रहा है, थोररयम का िहीं। 
• फरवरी 2019 के अिुसार, 2020 में इसका उद्देवय 
हालसल करि ेकी योर्िा है। 
3. Ans. B.  
• सक्रियण की ऊजाय को कम किके एक एींजाइम 
क्रिया (कायय) किता है। 
• एींजाइम जैववक उत्प्प्रेिक हैं। 
• प्रनतक्रिया के शलए सक्रियण ऊजाय जजतनी कम 
होगी, दि उतनी तेज होगी। 
4. Ans. B.  
समाचार पत्र ‘स्वदेशलमत्रम’ की स्थापिा र्ी.एस. 
अय्यर िे 1882 में की थी। 

• यह एक तलमल अखबार था। ध्याि दें कक वतामाि 
में बहुत प्रलसद्ध अखबार 'द हहदं'ू की स्थापिा भी 
र्ी.एस. अय्यर िे ही की थी। 
• उन्होंिे 1878 स े1898 तक द हहदं ूके संपादक 
और प्रबंध निदेशक के रूप में काया ककया था। 
5. Ans. B.  
इंहदरा गांधी भारत रत्ि से सम्मानित होिे वाली 
पहली महहला थीं। उन्हें 1971 में भारत रत्ि से 
सम्मानित ककया गया था। 
• वह भारत की पहली और एकमात्र महहला प्रधािमंत्री 
भी थीं। 
• 1959 में वह भारतीय राष्ट्रीय कांग्रेस की अध्यक्ष 
चुिी गईं थी। 
• 1975-77 के आपातकाल, ऑपरेशि ब्ल ू स्टार, 
गरीबी हटाओ अलभयाि आहद उिके प्रधािमंत्री काल 
की प्रमुख घटिाएँ थीं। 
6. Ans. C.  
वैजववक र्ीवंतता सूचकांक अथाशास्त्री बुद्र्धर्ीवी 
इकाई द्वारा र्ारी ककया र्ाता है। 
• सूचकांक पाँच व्यापक संकेतकों पर आधाररत है - 
जस्थरता, स्वास््य देखभाल, संस्कृनत और पयाावरण, 
लशक्षा और बुनियादी ढांचा। 
• 2019 में, िई हदल्ली छह स्थाि र्गरकर और 
118वें स्थाि पर रहा। 
• मुंबई सूची में 119वें स्थाि पर है। 
7. Ans. C.  
• इंडडयि ओशि ररम एसोलसएशि का गठि 1997 
में ककया गया था। 
• IORA का शीषा निकाय ववदेश मंबत्रयों (COM) की 
पररषद है र्ो सालािा बैठक करती है। 
8. Ans. A.  
• लमटंका पास (दराा) कवमीर को चीि से र्ोड़ता है। 
• यह काराकोरम पवात में कवमीर-अफगानिस्ताि-
चीि के बत्र र्ंक्शि में जस्थत है। 
• लमटंका शब्द का अथा है ‘एक हर्ार बकररयां’। 
ककललक पास, लमटंका पास के निकट जस्थत है। 
9. Ans. D.  
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• नील शिि ुसींलक्षण िक्त में ऑक्सीजन परिवहन 
को प्रभाववत किन े वाली जथिनत को सींदशभयत कि 
सकता है, जजसके परिणामथवरूप शििुओीं में त्प्वचा 
का नीलापन होता है। 
• नील शििु सींलक्षण शिि ुअवथिा में पीने के पानी 
में नाइटे्रट का सेवन होने से भी हो सकता है। ििीि 
में प्रदवूित पेयजल स ेप्राप्त नाइटे्रट यौधगकों क्रिया 
से हीमोग्लोबबन को मेिेमोग्लोबबन में बदलत ेहैं, िक्त 
की ऑक्सीजन ल ेजाने की क्षमता को कम कित ेहैं। 
• शििुओीं में, जथिनत घातक हो सकती है। नाइटे्रट 
के स्रोतों में कृवि भूशम में उपयोग क्रकए जाने वाल े
उवयिक, अपशिष्ट का ढेि या गड्ढे वाले िौचालय 
िाशमल हो सकत ेहैं। 
10. Ans. B.  
• संववधाि का अिुच्छेद 262 राज्य र्ल वववादों को 
संदलभात करता है। 
• यह बताता है कक संसद ककसी भी अंतर राज्य िदी 
और िदी घाटी के ककसी भी र्ल वववाद पर स्थगि 
के ललए कािूि प्रदाि कर सकती है। 
11. Ans. D.  
The sentence is grammatically correct. 
Hence, option D is the correct answer. 
12. Ans. A.  
‘Men’ is a plural noun; hence, the verb must 
also be plural to maintain subject-verb 
agreement. Therefore, ‘has’ must be 
replaced with ‘have’ to form a grammatically 
correct sentence. 
Hence, option A is the correct answer. 
13. Ans. C.  
Paleography: The study of ancient forms of 
writing 
Speleology: The scientific study of caves 
Hagiology: (legend) literature narrating the 
lives (and legends) of the saints 
Genealogy: The study or investigation of 
ancestry and family history 
Hence, option C is the correct answer. 
14. Ans. B.  

Let us understand the meaning of the given 
words :- 
Contrive = make or work out a plan for; 
devise. 
Purchase = obtain in exchange for 
payment. 
Covet = wish, long, or crave for (something, 
especially the property of another person). 
Entwine = tie or link together. 
This sentence discusses the preowned 
smartphones in a market. “Purchase” is the 
most relevant word in this context. 
Hence, option B is the correct answer. 
15. Ans. D.  
 The given sentence is in active form of 
simple past tense. The structures for 
active/passive voices are: 
Active: Subject + verb (IInd form) + object... 
Passive: Object + was/were + verb (IIIrd 
form) + by + subject... 
So, with the help of the above structures, 
we can convert the given sentence into 
passive voice:‘I was persuaded by my 
friends that he should be forgiven.’ Out of 
all the options, only option D is correct. 
16. Ans. B.  
The wrongly spelt word is provided in 
option (B). The correct word is Blossom 
which means bloom or produce flowers. 
Booty means goods or money obtained 
illegally. 
Brood means dwell. 
Boast means show off. 
Therefore, option (B) is the correct choice. 
17. Ans. D.  
Bite your tongue is an idiom which means 
stop oneself from saying something or keep 
quiet. 
Therefore, option (D) is the correct choice. 

http://www.gradeup.com/
http://bit.ly/32EdwOO


www.gradeup.co 
 
 

 
8 

 

18. Ans. A.  
Sentenced means a punishment given by 
ajudge in court to aperson ororganization. 
Declared means Afact that someone has 
publicly said oradmitted. Among all the 
options, pronounced means very noticeable 
which is perfect for the word verdict (an 
opinion or decision). 
19. Ans. C.  
This is a simple sentence of direct 
narration. We will change it into indirect 
narration. The inverted commas (“ “) used 
in Direct Narration will be removed in 
Indirect Narration and “that” conjunction will 
be used. Said to is generally changed to 
told in indirect speech when it is followed 
by an object but here in this question said 
to will be changed to warned as all the 
options contain 'warned' and also there is 
a sense of warning in the reported speech. 
Will is changed to would in the indirect 
narration. 2nd person pronoun is changed 
according to the object of the reporting 
speech i.e. YOU will be changed to I and 
YOUR will be changed to MY. Hence, 
option C is the correct answer. 
20. Ans. C.  
This is a simple sentence. The rules for 
changing such sentences into indirect 
speech are given below: 
• The inverted commas (“ “) used in Direct 
Narration is removed in Indirect Narration 
and “that” conjunction is used. 
• Says to/said to changes to tells/told in 
indirect speech if they are followed by an 
object. If not, they would remain same in 
indirect speech. 
 How to changes the tense in indirect 
speech 

• If the reporting verb is in present or future 
tense, no changes are made to the 
verb/tense of the reported speech. 
• If the reporting verb is in past tense, we 
make changes to the reported verb as per 
the below rule: 
• Simple present tense changes to simple 
past tense. 
• Present continuous tense changes to past 
continuous tense. 
• Present perfect tense changes to past 
perfect tense. 
• Present Perfect continuous tense changes 
to past perfect continuous tense. 
• Simple past tense changes to past perfect 
tense. 
• Past continuous tense changes to past 
perfect continuous tense. 
• No changes are made to past perfect and 
past perfect continuous tense. 
• Can, shall, will, may, must changes to 
could, should, would, might and must 
respectively. 
• If there are any universal truth, habitual 
fact in the reporting speech, no changes 
are made to the reported verb’s tense. 
How some words change in indirect speech 
• Words like “this, these, tomorrow, 
yesterday change to that, those, the next 
day, the previous day” respectively. 
Below are the rules for changing the 
pronouns correctly: 
• First person pronoun changes according 
to the subject of reporting speech. 
• Second person pronoun changes 
according to the object of reporting speech. 
• Third person pronoun does not change in 
indirect speech. 
21. Ans. B.  
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Acknowledgement= 15 letters 
Insignificant= 13 letters 
Personality= 11 letters 
Knowledge= 9 letters 
Quicker= 7 letters 
Hence, next term would be Quicker as it 
has 7 letters. 
22. Ans. C.  
All the numbers present in the given set 
(5, 11, 7) are prime numbers. 
Hence, only option C. has the set of prime 
numbers in compare to others. 
So, the correct response is (c). 
23. Ans. C.  
There is a +1 and -1 difference between 
the series present here. 

 
So, according to the figure, C is the 
answer. 
Hence, option C is the right answer. 
24. Ans. B.  
+1 to first letter, +3 to second letter -1 to 
third letter like this 

 
Thus 
P+1=R 
M+3=Q 
T-1=R 
Hence B 
25. Ans. B.  

The sum of the digits of all the numbers 
given in the series is equal to 13. So, the 
next number should be 490. While the sum 
of the digits of the rest of the numbers is 
not equal to 13. 
Hence, option B is the correct answer. 
26. Ans. A.  

 
Let CD =  
Then,  
By Stewart theorem, 

 
 

Where  

 
 

 
 

 
 

 
 

 
 

Hence,  
We take the positive value – 
So, Required ⇒ CD =  
27. Ans. D.  
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A.T.Q. 
(cos2  + sin3  + cosec2 ) 

 

 

 

 

 
28. Ans. C.  
Sides of a triangle are 56 cm, 90 cm and 
106 cm. 

 
 

Hence it wll be a right angle triangle. 
R = Hypotenuse/2 

 
Circumference = 2πR = 2 × 53π = 106π 
29. Ans. A.  

 

 

 
It is known that -  

 

 
30. Ans. D.  
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